F450 #HEERFEYFHYH—KE

2013.11.0254& B®EF—L  FIEFC

SL-4 B

NOo| F—L& | &=Fe |Fobo s —R|o5ratovsc|ERDIEHsClmuron—z-«| FigFc | FoReEmER | B | & | 5 [ma|ma| xa o] me
A
1| FEFC ‘ﬁri?r1?02?01?00_04?03?050116110112
2 [FCH YA —R :1 VigAd 3(31 0:30:30602?0231 715|8]-3|4
3 | 95111 70sc :21:3 D e 161 1:20602?01 312]|5]5]8]-3]5
4 | EREDIEHSC :13(_)01611&{(1:35?0060222810553
5 |gLFvyh—X-K f ol & (_) ol 2 (_) 1l e (3 ) D e p (3 ol (_) . 5101 (|16]14] 2 12| 1
6 | FIEFC :40f00600:50:4 o 0:10422014—147
A
7 |FCEREMA :30:20:20_00:21?0 #*x |1|al1|a]l1|9]-8]6
XEBRTTOTETESDAERALTTILY,

SL-4 10 A 12 B (1) FS5UR% 33 EH/IER 10-5-10
No| FvoAD ¥ & ) — 7 IE | 3% | 3B
1 9:30 FCHIUA—X 3 — 1 [954LALTSC| BE |#FE-oE®| &L
2 10:00 ERDIEHSC 1 — 3 | glUFryvh—XK |4o8—R|s51a7y| HE
3 10:30 FIEFC 0O — 1 FCREE H % BEOIED| YA —X|s5181L7y
4 11:00 FIEFC 1 — 0 FCHUA—R |le&EE#E| IRl FiZ
5/ 11:30 (U934 La4LTosCl 1 — 1 EEDIEHSC FiF |BEEE vo7—2
6| 12:00 |i@Fvyh—X-K|[ 4 — O BiZFC rsrnazy| HE |BEBRK
7| 12:30 FCRESHE#% 0 — 3 BIEFC iz Ly FiE |BEoEs

SL-4 10 A 13 8 (A) TSRS T EH/NER 10-5-10
No| FuoAT ¥ E Uy — 7 IE | BIE | BIF
1 9:30 ¥y h—X-K| 2 — 0 FCHE & H#% BE | olE | FiE
2|  10:00 FCHUA—X o — 3 ERDIEHSC gL (BEER| BE
3| 10:30 AiFFC 0O — 4 HFIEFC s54naL 7| B8 —2 | BE 5 iR
4] 11:00 [(U95A4LALTSCl 1 — 2 |BUFYH—XK |45z FE | 2lESH
5| 11:30 FCHE 5 H #k 0o — 2 FCHUA—X Fig  [s9ano| gL
6 12:00 EREDIEHSC 5 — 0 FIFFC RERSERR| IR [s5ranoy
7| 12:30 BEFC 2 — 0 |954LALTUSC| i | Fig |Hosy—2x

SL-4 1 A 2 B (1) TSRS T3 EH/MER 10-5-10
No| FusAT F OE )y — 45 IE | BE | BIE
1 9:30 ERDOIXHSC o — 0 FCRS & H #% FE |yoa—z| L
2| 1000 FCH A —X 0 — 3 |\mbuUxvyh—X-K| oiEy [BEERK FE
3| 10:30 EFEFC 1 — 0 EEOIEHSC |[vov—=z| Fig |ssrense
4 11:00 FiZFFC 0O — 0 FCHUA—X  |s5ana| gL | DIE®H
5[ 11:30 FCRGE H#% 0 — 2 |954LA4LTSC| FiE | 2180 [Hod—x
6| 12:00 |IELFvyH—X-K| 0 — O BIEFC BEEBG| ey FiF
71 1230 |954L4A4LTosCl 0 — O FixFC gl | EFE |BEEK




